SN ESAIHDY
Ha: a4l B2 SNsE AL (SYHL2M/5Y - 55)
o9l sejolo =X 5 CERE
e 29,092,029 31,933, 189 ~2,841,160
= 180,335
= 1,050,000
| 35,227
= 2,307,737
Al 25,518,730
a4 B2 SNSE AL (SYHS2M/S 1,653,490 1,492,720 160,770
= 46,700
| 35,227
= 206,655
Al 1,364,908
= 1,348,245 1,189,758 158,487
= 46,700
| 35,227
= 198,655
Al 1,067,663
= 147,250 147,250
= 32,395
Al 114,855
147,250 147,250
= 32,395
Al 114,855
NP 147,250 147,250
= 32,395
Al 114,855
=0l & 147,250 147,250
= 32,395
A 114,855
TS TSN 36,812,5008 x4 | 147,250
= 32,395
Al 114,855
=S 0N 16,800 16,800
= 2,100
Al 14,700
Ao A3 16,800 16,800
= 2,100
Al 14,700
SRR 16,800 16,800
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SN seEYY
By A B2 =NEE A8 (SRS /5 - =2
9 melolo] =X =X CER-E
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
01 A2EZH 03 < 2,100
Al 14,700
= 0ff &F 16,800 16,800 0
= 2,100
Al 14,700
O=sIt==20 XN& At 4,200,000 «4H 16,800
= 2,100
Al 14,700
SAIAIHLE (HLEEXR) 55,000 45,000 10,000
= 33,000
= 11,000
Al 11,000
402 U2t =201H 55,000 45,000 10,000
= 33,000
& 11,000
Al 11,000
02 QIZT2AILEZ(0IETHA) 55,000 45,000 10,000
= 33,000
= 1,000
Al 11,000
= 0ff &F 55,000 45,000 10,000
= 33,000
= 11,000
Al 11,000
O=sgda3gdzdde XA 11,000,000& *5J4 2 55,000
= 33,000
= 11,000
Al 11,000
St=s02dzE E= 54,600 54,600 0
= 8,190
Al 46,410
201  LEt2I| 54,600 54,600 0
& 8,190
Al 46,410
01 At 2teltl 54,600 54,600 0
= 8,190
Al 46,410
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SN EYEUY
By a0 B2 =NsE A8 (SRS /5Y - =E)
9 melolo] =X =X CER-E
SNBSS (BH) - MEAY - B2 (ggz::) @(ijf;ﬁ% HRE2
= 0l & 54,600 54,600 0
== 8,190
Al 46,410
Ost= sHUME 23 ALY
7,000 x650H x12& 54,600
== 8,190
Al 46,410
SHENEIIZ2XNE 485,000 576,521 A91,521
= 36,000
Al 449,000
307 QIz2tol A 120,000 211,521 A 91,521
== 36,000
Al 84,000
08 OlXENZ= 120,000 211,521 A91,521
== 36,000
Al 84,000
= 0l & 120,000 211,521 A 91,521
== 36,000
Al 84,000
O=sgSeA=2 Ol X K&
120,000, 000& * 1Al 120,000
& 36,000
Al 84,000
308 AXESHMSOIHA 365,000 365,000 0
07 XXSHN2AREEZ 365,000 365,000 0
= 0l & 365,000 365,000 0
OdetgdesHErEII2 22
365,000,000 x13] 365,000
Nesmo 82 oM 77,868 38,360 39,508
101 ol A H| 14,868 0 14,868
04 JIZtHZ2ZXNSE S 14,868 0 14,868
= 0ff & 14,868 0 14,868
OMEEZX J|I2tH 22Xt o124| 14,868
—-Jl23 66,800 x 1 *x212 +x8IH & 11,223
—F554 66,800 x 1Y x34 2,272
— =202 13,495,000& *4 .5% 608
—2HLEE 13,495,000& *3.12% 422
—NEEE 13,495,000& *1.5% 203
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2N SYFHDY
HE: M) B2 SNSE AL (SYHYSM/5Y - 5&)
o9l sejolo =X 5 (B9 @
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES =z T BlRE2
— T2 E 13,495,0002 x0.8% 108
- PlE=EE 422,0002 *7.38% 32
201 Yur2Hl 43,300 16,420 26,880
01 AtR2lY| 43,300 16,420 26,880
=0 4 43,300 16,420 26,880
OsgAY 48 ZD2 KXY
1,000 *1,000% 1,000
Oflas AdBAH BH 49
100,0002! *40% *6.3] 24,000
OSHAM E2XE ME  7,0008 5002 3,500
OsHYs BH £Z  100,0002 «32% *13] 3,200
OSHYYS UG B g
100, 0002 *6 % %25] 574 2 It 6,000
O=HANHESHATHAAS FH2Y
100,0002! 72 +23] 1,400
OSHYHNSH B+
10,0002 2124 23] 4,200
202 Oft] 10,800 10,140 660
01 2ol 10,800 10,140 660
=0 & 10,800 10,140 660
OSHALEZT A L 3]0 &A
60,0002 %8 * 122! *13] 5,760
OSHE22M T/FY S WX O
60,0002 *28%4 x23] 3,360
OsesE HMEX AS 60,0002 «28% *13] 1,680
203 YLEZYI 7,000 7,000 0
03 AHERYLEZY 7,000 7,000 0
=0l & 7,000 7,000 0
Os3 AL =7 7,000,000 * 14! 7,000
301 YPBAI 1,900 4,800 A2,900
12 JIEE A3 1,900 0 1,900
=0 &t 1,900 0 1,900
OSE2AIMES 218 A2 OHOICINBR
800,000+ 12 +500, 0002 * 1244300, 0002 +2 1,900
sxolg2el X 35,227 35,207 0
| 35,207
101 oIyl 32,732 32,504 208
| 32,732
04 JINM2RTSB 4 32,732 32,524 208
ol 32,732
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SN EYEUY
By a0 B2 =NsE A8 (SRS /5Y - =E)
9 melolo] =X =X CER-E
SNBSS (BH) - MEAY - B2 (ggz::) @(ijf;ﬁ% HRE2
= 0l & 32,732 32,524 208
Dl 32,732
OsXol22elXd J2MI22 A 28
8,350& *4 Al 2t * 10 %98 32,732
Dl 32,732
201 B2 A Y| 2,495 2,703 AN 208
Dl 2,495
01 Ar®2telbl 2,495 2,703 A 208
J| 2,495
=0l 4 2,495 2,703 A 208
Dl 2,495
OsXz&el0s8XAA MNMRES 7Y
166,300& x 15 S H =S 2,495
Dl 2,495
SEOS 8324 K& 300,000 152,000 148,000
== 90,000
Al 210,000
301 oty Al 300,000 152,000 148,000
== 90,000
Al 210,000
01 MIBEAELGHZ2 300,000 152,000 148,000
== 90,000
Al 210,000
= 0l & 300,000 152,000 148,000
= 90,000
Al 210,000
OsHI| s&0t2 2s34 XA
2,000,000& * 1504 A&~ 300,000
== 90,000
Al 210,000
SESS00l=s4dH 29| 13,700 13,700 0
= 13,700
307 Q@Iztol A 13,700 13,700 0
= 13,700
02 QIZHAMAIEE =X 13,700 13,700 0
= 13,700
= 0l & 13,700 13,700 0
= 13,700
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SN

s
FH: M) £ SN=E HE(sglYd/s9 - &
el =sgole sX 5& (o2&
x - . 0 & o H = ol -
SH - BA(BH) - NRAY - BES e i BlRE2
OsE3s0l0ls38HdH 22d N&
13,700,000 * 100 2 13,700
= 13,700
S0 FZM NAANG(0IXRNEH) 8,000 8,000 0
& 4,000
Al 4,000
308 RXSHMSOIH 8,000 8,000 0
& 4,000
Al 4,000
10 S/ 2S0ICHetE & X E AL I 8,000 8,000 0
= 4,000
Al 4,000
= Off & 8,000 8,000 0
= 4,000
Al 4,000
Osdol 3H NAASG(0XEH)
228,570& x35= It 8,000
= 4,000
Al 4,000
stEsdUNUE B2 32,800 22,800 10,000
= 3,420
Al 29,380
201 et 32,800 22,800 10,000
= 3,420
Al 29,380
01 AtS2teltl 32,800 22,800 10,000
& 3,420
Al 29,380
= Ofl & 32,800 22,800 10,000
& 3,420
Al 29,380
Ost= s83AMZ2 E3 MY 32,800,000 *14] 32,800
= 3,420
Al 29,380
SEQSXAME K& 115,000 35,000 80,000
= 10,500
Al 104,500
307  QIzZtol ™ 115,000 35,000 80,000
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SN seEYY
By A B2 =NEE A8 (SRS /5 - =2
9 melolo] =X =X CER-E
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
307  glztol A = 10,500
Al 104,500
02 QUAHBMASEXR 115,000 35,000 80,000
= 10,500
Al 104,500
= 0l & 115,000 35,000 80,000
& 10,500
Al 104,500
OsEgX3deH XA 115,000,000 14 115,000
& 10,500
Al 104,500
HE=sdodzE E= 7,000 7,000 0
= 1,050
Al 5,950
201 eI 7,000 7,000 0
= 1,050
Al 5,950
01 AtS2teltl 7,000 7,000 0
= 1,050
Al 5,950
= 0l &F 7,000 7,000 0
= 1,050
Al 5,950
OHE=sZME B3 7,000,000 *14] 7,000
== 1,050
Al 5,950
sgel AHAM =4 13,500 8,500 5,000
sge =8 29 13,500 8,500 5,000
307 gIztold 13,500 8,500 5,000
02 QUAHBMASER 13,500 8,500 5,000
= 0l &F 13,500 8,500 5,000
Ox=dA =s2HM FHLMEH X
4,000,000& 13| 4,000
O&dAN HE=sHOIHH e 25 s
& 5,000,000& » 14! 5,000
O=&A 64 =s20HHd sorg XA
4,500,000 =13l 4,500
SAN=sY 2435 291,745 294,462 A2, 717
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SN
X ZH -
L=

el

o)
{0
]
{0

Oll &F o

& 1 = 0f 4 o

Bl

0
0y

v (BEH) (J18A)
OSESHLHA 228 FHl(sI1H 22l
g) | Xl 1,000, 0003 * 14 1,000
03 A2 50,000 60,000 A 10,000
= 0l &t 50,000 60,000 210,000
OEANsg=sM2d 50,000, 000& » 14| 50,000
202 o4l 2,160 2,160 0
01 =Wl 2,160 2,160 0
= 0l &t 2,160 2,160 0
OEAN=sg g8 A € 312 &4
60,0003 x3H x 122 13| 2,160
206 M Z 4l 6,400 6,400 0
01 M=Z=dl 6,400 6,400 0
= 0l & 6,400 6,400 0
OEAN=sg s 45 Mg 7Y
340,000& 1038 3,400
OEANsgsd 804 & 7Y
25,0003 *30EL +4E +13] 3,000
301 ZEEH= 8,220 8,220 0
09 HAIAHIEAZS 1,980 1,980 0
= 0l & 1,980 1,980 0
OEAN=sg da8X ds & s 4
60,0003 33 * 12 1,980
12 JIEtE A3 6,240 6,240 0
= 0l & 6,240 6,240 0
OEANsg S22 & UsIMNE
370,000& » 123 4,440
O A=Y &#sHl A& 18,0002 10L& 102! 1,800
307  22tol™ 20,000 20,000 0
02 QIZtBAAHES 20,000 20,000 0
= 0l & 20,000 20,000 0
OZAN=sZLE HNEZZOH2Y
20,000,000& » 14| 20,000
401 AMEHIZ RO 20,000 30,000 A 10,000
01 Al&Hl 20,000 30,000 A~ 10,000
= 0l & 20,000 30,000 A 10,000
OZAN&E S22 20,000,000& » 14| 20,000
402 2t+E0lM 50,000 50,000 0
01 SItX2 AL 2 (XHM ) 50,000 50,000 0
= 0l & 50,000 50,000 0
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2H: 5
Hu: M) E2 2NSE A
= A t

el

o)
{0
]
{0

x s . 0 & o ol Ao -
SA B S (SH) - MEMY - BES =z T BlRE2
OR&gg HLEFI N A
12,500,000%5H 2 x80% 50,000
SIHLERY =4 ¥ 29 33,980 23,680 10,300
201 eI 20,100 9,800 10,300
01 AtR2Zeldl 20,100 9,800 10,300
= 0fl & 20,100 9,800 10,300
O=gsgda 22l U (S AI)Lxt
880,000& »2CH+5 8,800
OBYeLIA 22| 22 7Y
45,000& x1002l 4,500
OZZHeHE %Y 22 68,0002 1004 6,800
206 M=l 13,880 13,880 0
01 M=l 13,880 13,880 0
= 0fl & 13,880 13,880 0
OZ3gHeEE 22 &l 8 ¢
8,000& »1,735%L 13,880
Foas MEs 22 AEAY 20,000 10,000 10,000
= 8,000
Al 12,000
201 et 20,000 10,000 10,000
= 8,000
Al 12,000
03 A2 20,000 10,000 10,000
= 8,000
Al 12,000
= Off & 20,000 10,000 10,000
= 8,000
Al 12,000
Ol s des 22 ANEMS
20,000,000 » 14! 20,000
& 8,000
Al 12,000
dEH A2 (s d/se - &) 151,752 156,380 A4,628
A2 2] 151,752 156,380 AN4,628
sgIl=dH HALEYI 151,752 156,380 A 4,628
201 LBt 69,752 69,752 0
01 AtR2Zeldl 2,076 2,076 0
= Ofl & 2,076 2,076 0
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SN

SR

FH: dH EAMZ2ed(sdgsd/= - &)
S FAr2el (o2&
x - . 0 & o H = ol -
SH - BA(BH) - NRAY - BES e i BlRE2
OdJ|etd 2e|CHei ]l 173,000& 100 & +123 2,076
02 =294l 67,676 67,676 0
= Off & 67,676 67,676 0
OdH &EIIAE2Z  2,300,000& 10 A2 +123 27,600
OdlH 2823 144,000 501 Dt 123 8,640
OHlH &dot=& AIE2E 387,000& »12& 4,644
OdH fIdYs =42 60,000 =128 720
OdE DYHEA SN2 H
2,500,000& »23] 5,000
OdE HdE==X 2+l 1,000, 000& =102/ 10,000
OZRENY REAHI
461,300 x2CHx128 11,072
401 AI&BIZ =208l 82,000 83,000 21,000
01 Al&UI 82,000 83,000 A 1,000
= Ofl & 82,000 83,000 A 1,000
OsgllsdH Us sdHdE2
10,000, 000& * 14 10,000
Osgdllsdy W2 23|
5,000,000& *6H 2 30,000
O=gllsdd EM SRS
2,000,000& =103l 20,000
Osdllsdy §¢=2A £X
22,000,000& =14 22,000
ANE XN 22722 Ho(s8ddsd/sd - =&) 2,849,030 5,666,026 A 2,816,996
= 133,635
= 93,859
Al 2,621,536
=d0|Q HE EES 964,630 873,830 90,800
SHE SSH4HE & sEM=E BE 964,630 873,830 90,800
201  LEt24dH 258,750 267,950 A9,200
01 AtR2Zeltl 258,750 267,950 29,200
= Off & 258,750 267,950 A9,200
OU=SEZMME S& 2
35,000,000& 23 70,000
OXNd=sag UEHES™L ER
30,000,000& x23l 60,000
OUEAMXSE sats 8
20,000, 000& *20H 2 40,000
OXNg=4tg BHE |4 35,000,000 23] 70,000
Os:edH, 2238 & 22 MH
395,000& x5&*23| 3,950
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2N SYFHDY
Y AY NN SS7F N (SZHLsM/52 - 55)
Sl 2H0 YE S CERE
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
OE2=A X8 2,000,002 *143] *50% 14,000
OSASTSHE doPasy
100,0002! +8% #13] 800
202 Oft 2,880 2,880 0
01 =il 2,880 2,880 0
=0 & 2,880 2,880 0
OSUZRE YLEE BA L 3 &A
60,0002 %4 * 122 *13] 2,880
203 YLEYI 3,000 3,000 0
03 AHEZYLEZY 3,000 3,000 0
=0 4 3,000 3,000 0
ORE AL =7 3,000, 0008 *14] 3,000
402 PIZTROIH 700,000 600,000 100,000
01 QIR AR E (K HS) 700,000 600,000 100,000
=0 & 700,000 600,000 100,000
OsSH2 SEEIH X8 250,000
— AT FTH (5kgOI BF)
250,000, 00021 * 18| *50% 125,000
— Z AT (5kgOl &) 250,000,002 *13] *50% 125,000
Osdg ANSEESS X8
400,000,0002 * 13| 50% 200,000
024 St =42 TR N
500,000,000 * 18| *50% 250,000
S42 REANL =5 285,050 649,482 364,432
= 77,000
= 40,000
Al 168,050
SHSAENSHED L3 AY 69,000 93,000 24,000
= 27,600
Al 41,400
402 PIZTROIH 69,000 93,000 24,000
= 27,600
Al 41,400
02 DIERE AR E (OIFTHR) 69,000 93,000 24,000
= 27,600
Al 41,400
=0 & 69,000 93,000 24,000
= 27,600
Al 41,400
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SN seEHY
AN NS RE2E N (sallgdxd/sg9 - &)
Col: BME REAM 2E CERT
- _ . sron 419  0f &t .
SH-EH. O (AN) - NRANY - B o o SR & HDE2
=ETY SELS
Ostts28 2T EXXA
6,900,000& x10= 69,000
= 27,600
Al 41,400
SSHF0S AZANS(EH) ALY 20,000 10,000 10,000
402 QI2EXr20l M 20,000 10,000 10,000
01 Q2T 2AMEEZ(RAMIHA) 20,000 10,000 10,000
= 0l & 20,000 10,000 10,000
O=3HIF0Is HZM2 IHTH(EY) X
& 40,000,000 * 13| *50% 20,000
g EsMEZ2 2 22,050 38,450 A 16,400
201  etI| 22,050 18,450 3,600
01 At 2eltl 13,650 15,450 A 1,800
= 0l & 13,650 15,450 A 1,800
OHESNER 29 42F 7o
300,000& x12& 3,600
OstEa 488 7Y 100,000& »12& 1,200
OLESUER #cEg 29
40,0003 «12& 480
O&F=J dx& 27,500 x1CH =123 330
OPOSAI A8l JtEx2 300,000& «12& 3,600
ORo1ZH =+ = 100,000& »12& 1,200
odstae Hdgx+= 270,000& »12& 3,240
02 232293l 8,400 3,000 5,400
= 0ff & 8,400 3,000 5,400
odIIea, =k S 700,000& =122 8,400
SSHEH NJAA 100,000 144,032 A44,032
= 50,000
& 10,000
Al 40,000
402 U2t =201H 100,000 144,032 AN44,032
= 50,000
=~ 10,000
Al 40,000
02 QIAT2AILE X (0IETHSA) 100,000 144,032 A44,032
= 50,000
= 10,000
Al 40,000
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SN EYEUY
Hz: A& S8 QEIX HE(s2illgLdt/s2 - &)
He: S22 RSAMNE =5 (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
= 0l & 100,000 144,032 N44,032
= 50,000
== 10,000
Al 40,000
ONHEAPC sHtE2 SsH8H X
100,000, 000& *13] 100,000
= 50,000
== 10,000
Al 40,000
S&E OHAE X 24,000 54,000 A 30,000
2 12,000
== 2,400
Al 9,600
402 QI2FXHE0|M 24,000 54,000 A 30,000
= 12,000
== 2,400
Al 9,600
02 QUAT2AILEZ(0IETHE) 24,000 54,000 30,000
= 12,000
c 2,400
Al 9,600
= Ol & 24,000 54,000 A 30,000
= 12,000
= 2,400
Al 9,600
OAHEAPC s&t2 0HAHE K3 A
24,000,000& *13] 24,000
= 12,000
== 2,400
Al 9,600
HE APC 2 20,000 200,000 A 180,000
307 2120l d 20,000 0 20,000
02 QUAtFAAMNHEX 20,000 0 20,000
= 0ff & 20,000 0 20,000
OHE UK wSHH s&2 Edl=+=2 Xl
& 40,000, 000& *50% 20,000
RPC =244 30,000 30,000 0
= 15,000
. Al 15,000
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SN seEHY
AN NS RE2E N (sallgdxd/sg9 - &)
thel: sitE SEANE &5 (e &
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
307  glztol A 30,000 30,000 0
= 15,000
Al 15,000
02 QUAHABLASEX 30,000 30,000 0
= 15,000
Al 15,000
= 0l &F 30,000 30,000 0
= 15,000
Al 15,000
ORPC =248 K&
30,000, 0003 *14] 30,000
= 15,000
Al 15,000
sSENE SEMA OH S 937,550 540,634 396,916
= 56,635
= 30,669
Al 850,246
TAA AWM 235 R ALY 55,000 34,000 21,000
402 QIZtX=201H 55,000 34,000 21,000
01 QU2 2AISE X (RAHSA) 55,000 34,000 21,000
= Ol &F 55,000 34,000 21,000
OUEAl B#2E5EM =2FH X
0,000,000& *13| *50% 35,000
OAHIA S8 NSEA TN XN
0,000,000& *13] *x50% 20,000
S&E BE Z5E @A 32,000 32,000 0
206 M=l 32,000 32,000 0
01 M=zl 32,000 32,000 0
= 0ff &F 32,000 32,000 0
O=ssSittg 28 8272Y
2,000,000& 163 32,000
sSENE HE-HA 214,000 164,000 50,000
301 LErEAZF 14,000 14,000 0
09 ALAHIEAZ 14,000 14,000 0
= 0l & 14,000 14,000 0
OBt AL I 24
280,000 * 100 & X *53] 14,000
402 QU2tXp=201H 200,000 150,000 50,000
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SN seEHY
AN NS RE2E N (sallgdxd/sg9 - &)
thel: sE4ME SSHAH OGS (e &
SH-EH. O (AN) - NRANY - B o) ) HDE2
01 QU2 T2AEEX (M) 200,000 150,000 50,000
= 0f 200,000 150,000 50,000
O=& =42 SHidl XI&
400,000,000& 13| *50% 200,000
EZH BEHE S22 ¥4EN WH 4,960 4,957 3
& 992
Al 3,968
206 M= Hl 4,960 4,957 3
& 992
Al 3,968
01 M=l 4,960 4,957 3
= 992
Al 3,968
=0l & 4,960 4,957 3
& 992
Al 3,968
Oz eZH EE =28 M4 WM&
4,960,000 13| 4,960
= 992
Al 3,968
d2xI 22 XA 4,302 3,400 902
= 4,302
201 LBt 49H| 602 0 602
= 602
01 At 2eltl 602 0 602
= 602
= 0f 602 0 602
=2 602
O33HI=0| HYLHE HMZ
2003 *3,01004 602
= 602
202 Ol bl 3,700 3,400 300
= 3,700
01 =AYl 3,700 3,400 300
= 3,700
= 0l & 3,700 3,400 300
= 3,700
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SN A
Ha: AE NS RS7E W (SZHL2M/5 - 52)
o9l SSA42 REMI CHHE CERE
x s . Of &t o8 & & 0 A o -
SA - B (SH) - HRAY - BAES (ZE o) (3] o) HRE2
[= =] [= ]
OFEYR 22l L 2F RSHS
20,0001 ¥5 +373] 3,700
=2 3,700
GAPOI S0t O BA 2AAH X 12,509 18,689 £6,180
= 8,756
= 1,126
Al 2,627
301 LsBA3 12,509 18,689 ~6,180
= 8,756
= 1,126
Al 2,627
12 JlER A 12,509 18,689 £6,180
= 8,756
3 1,126
Al 2,627
=0l 12,509 18,689 ~6,180
= 8,756
= 1,126
Al 2,627
OGAPOIZ S0 QH & & Al X
12,509, 0008 *13] 12,509
= 8,756
= 1,126
Al 2,627
RHZACA SSHE AU 11,500 11,500 0
201 LBt 11,500 11,500 0
01 At 22l 11,500 11,500 0
=0 11,500 11,500 0
ORNZO TA AHIK SEMHES HA
o 1} 1,000,0002 *2CH x23l 4,000
OTONZO TA RHHZE BOHRA U3
2 1,500, 0002 %574 2 7,500
= AP TIGAPOE & 2 A K| 2 87,153 81,162 5,991
=2 43,577
= 13,073
Al 30,503
201 st 87,153 81,162 5,991
= 43,577
= 13,073
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SN seEHY
AN NS RE2E N (sallgdxd/sg9 - &)
thel: sE4ME SSHAH OGS (e &
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
201 eI Al 30,503
01 AtR2Zeltl 87,153 81,162 5,991
= 43,577
= 13,073
Al 30,503
= 0l & 87,153 81,162 5,991
= 43,577
= 13,073
Al 30,503
OF4&HXI GAP et H 224H| XI&
87,153,000& 13| 87,153
= 43,577
= 13,073
Al 30,503
GAPCIE =Dt eIsdE g XI& 8,926 8,926 0
= 2,678
Al 6,248
301 LerEazg 8,926 8,926 0
= 2,678
Al 6,248
12 JIEt2 A3 8,926 8,926 0
= 2,678
Al 6,248
= 0l & 8,926 8,926 0
& 2,678
Al 6,248
OGAPRI S =t oIS dd 2 XN&
8,926,000& 13| 8,926
& 2,678
Al 6,248
S0 IR S ALY 35,200 32,000 3,200
= 8,800
Al 26,400
402 QI =0lM 35,200 32,000 3,200
= 8,800
Al 26,400
02 QAT 2AILEX(0IXTHSA) 35,200 32,000 3,200
= 8,800
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SN seEHY
AN NS RE2E N (sallgdxd/sg9 - &)
thel: sE4ME SSHAH OGS (e &
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
02 QUAT2AIEEX(0IXTHSA) Al 26,400
= 0l & 35,200 32,000 3,200
& 8,800
Al 26,400
OEW0 DI ALY 8,800,000 «40H & 35,200
& 8,800
Al 26,400
A @M DM =g EiHl XI& 20,000 24,750 AN4,750
= 4,000
Al 16,000
402 QIZERrE0l M 20,000 24,750 AN4,750
= 4,000
Al 16,000
02 QAT 2AILEX(0IXTHIA) 20,000 24,750 AN4,750
< 4,000
Al 16,000
= 0ff &F 20,000 24,750 A4,750
=~ 4,000
Al 16,000
OFl BMDH 39 yiy X2
20,000, 000& 13| 20,000
= 4,000
Al 16,000
NEsdE 43S AHEE M3 400,000 0 400,000
402 QU2tX=201H 400,000 0 400,000
01 QX 2AISE X (RAHSA) 400,000 0 400,000
= Ol & 400,000 0 400,000
OXNg=sdtg =M LHEIENMS
22,000& 200, 000%£ 400,000
SNMSAMXEA ZUHZA 243 2,000 0 2,000
301 LEtEAF 2,000 0 2,000
12 JIEt2 &= 2,000 0 2,000
= 0l & 2,000 0 2,000
Ostts FAXNEA BUHZAZ I B
=2 A& 50,0003 x4% 103 2,000
oldd M2y s4a=2 JIAM N& 50,000 0 50,000
402 QU2tXH=201H 50,000 0 50,000
01 QU2 2AISE X (KHAHSA) 50,000 0 50,000
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SN A
HE: A NS RE7E N (S2HLas/sY - 5&)
S SSME RS CEs (B9 @2
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
= 0l & 50,000 0 50,000
Oole BAE S4E2 IXHES
100,000, 0002 *50% 50,000
2ATC MM Y RS 2L 661,800 3,602,080 A2,940,280
= 23,190
Al 638,610
2ATC [ ALY D 30, 160 30, 160 0
201 Yur2gyl 8,000 8,000 0
01 At 2teltl 8,000 8,000 0
= 0 4t 8,000 8,000 0
ONNHZE 222 ME  1,000,0008 *33] 3,000
ONHHTE 228 844 HH
50,0002 %27 103l 1,000
ONNWFE 2A X 100,008 +10S 43l 4,000
202 OfHl 2,160 2,160 0
01 =Uoibl 2,160 2,160 0
=0 & 2,160 2,160 0
OZAEC ALEZF A L 5O &A
60,0002 %3 *123] 2,160
307 Q120 H 20,000 20,000 0
02 SINBMAYRE 20,000 20,000 0
=0 &t 20,000 20,000 0
ONNHZE 2% N 500,000l 403! 20,000
222c 84 N A 29 2,500 2,610 A110
201 Qw2 2,500 2,610 A110
01 At 2teltl 2,500 2,610 A110
=0 & 2,500 2,610 A110
OZZECS 84 NAAVE 29
10,0002 #1124 23] 2,200
OZYRCE S8 YLFT AREE 7Y
150,000 *23] 300
2UTC LYK S DS 40,200 40,200 0
201 Qw2 31,600 31,600 0
01 At 22l 31,600 31,600 0
=0l 4t 31,600 31,600 0
OZHECSDS ASY 370,000 +303] 11,100
ORTTCUS T A
5, 00021 ¥500 *53] 12,500
ORZTCUS HTUX 500,0002! 83l 4,000
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SN R
HE: ANY NSH RERE KM (SRS /5 - 5&)
Sl RAUTC MM U RS BHF (2@
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES =z T BlRE2
OZLEC AUIKLS S22 M
250,0002! 103l 2,500
OZZES AHINDS MR8E 7Y
300,0002! 53] 1,500
206 T2l 5,000 5,000 0
01 MEbl 5,000 5,000 0
= 0 4t 5,000 5,000 0
OAHITt DSE A& WE 7Y
500,0008 %103 5,000
01 YA 3,600 3,600 0
09 BAAHIZAS 3,600 3,600 0
=0 & 3,600 3,600 0
ORLETC X DT L HAX 243
60,0002 %602 * 131 3,600
22UTC YOI 30,000 50,000 20,000
402 QI2T0|H 30,000 50,000 20,000
01 QIERHZ AN R E (XHHI TR ) 30,000 50,000 20,000
= 0 &t 30,000 50,000 20,000
ORZEES RA0IAY X2
33,333, 3302 1 £ %90% 30,000
2AEC HHE ALY 304,800 334,800 30,000
201 Ysr2gyl 79,800 129,800 A50,000
01 At eyl 79,800 129,800 A50,000
=0 & 79,800 129,800 A50,000
ORZES X E22 HE
2,500 *1,00052 2,500
ORZTCS BosM2 AHL HMN 242
190,002 #3502 66,500
ORTIES AATX @2t
1,5002 *1,200 %63 10,800
307 @I2tolE 200,000 180,000 20,000
02 BIZHAAYRE 40,000 20,000 20,000
= 0 4t 40,000 20,000 20,000
ORZTCS AHIR Miisdt BEO X2
20,000, 00021 * 174 4 20,000
ORZEC RIsI SN
20,000, 0002 *14! 20,000
05 QI2eIetz 160,000 60,000 0
=0 4t 160,000 160,000 0
ORZES JIHMUHN 25
160,000, 0002 *14! 160,000
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SN SR
BH: AR NBH SERE WM (SHHLLM/52 - 55)
el 2HEC MM U RS B (sl @
x 5 . ol & A & 0 Ao -
SN B (SH) - NEAY - BES (ZE o) =L HiRE2
402 QIZHXrE0l M 25,000 25,000 0
01 QU2 ASE X (XA ) 25,000 25,000 0
= Ofl & 25,000 25,000 0
ORZIC SHC MENE X
25,000,000 *1J4 & 25,000
RZIC Eotsdts dEEHA X 60,500 6,670 53,830
& 18,150
Al 42,350
201  LEL2H] 60,500 6,670 53,830
= 18,150
Al 42,350
01 AtR2Zeltl 60,500 6,670 53,830
= 18,150
Al 42,350
= 0fl & 60,500 6,670 53,830
= 18,150
Al 42,350
ORZPTC Sois42 ALY N2
250,000 x242A 60,500
= 18,150
Al 42,350
EZFEE o=t ZEHH XJ AL 17,640 17,640 0
= 5,040
Al 12,600
307  QIzZtol™ 17,640 17,640 0
& 5,040
Al 12,600
02 QUAZAMAIHEE 17,640 17,640 0
= 5,040
Al 12,600
= Ofl & 17,640 17,640 0
& 5,040
Al 12,600
ORUTC FoisJt TEMY N
17,640,000 14 17,640
= 5,040
Al 12,600
ZZEC MIE ANLEH 20,000 0 20,000
|
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SN R
B ANY KNEE SERE HH(SPHLLL/5Y - &)
Sl RAUTC MM U RS BHF (2@
x s . Of &t o8 & & 0 A o -
SA - B (SH) - HRAY - BAES =z T HRE2
401 ASHILLTHY 20,000 0 20,000
01 Al&HI 20,000 0 20,000
= 0 &t 20,000 0 20,000
2ATC HHY 1.258 FN2L
4,000,0008 *53] 20,000
22TC E5is0 284 AL 60,000 0 60,000
307 gI2tolE 60,000 0 60,000
02 BIRHAAYRE 60,000 0 60,000
= 0 4t 60,000 0 60,000
2UTC F5sIt 232F XL
60,000, 000% 14! 60,000
2UTCS S50t S XS 96,000 0 96,000
402 PIZTROIH 96,000 0 96,000
01 PIZXZAY R E(RHAITHE) 96,000 0 96,000
=0 4t 96,000 0 96,000
2ATC HAMMEI S K
96,000, 0002 *14! 96,000
SHE IB4E MESHY(SEHSLN/5Y - 55) 2,831,103 2,071,736 759,367
2 1,050,000
= 69,040
Al 1,712,063
SH2IHT MY FH 2,505,471 1,794,830 710,641
2 1,050,000
= 59,040
Al 1,396,431
SINBAE AFHE X 6,480 4,400 2,080
= 3,240
Al 3,240
402 PIZTROIH 6,480 4,400 2,080
= 3,240
Al 3,240
02 QIS AR E(OIFTHR) 6,480 4,400 2,080
= 3,240
Al 3,240
=0 4 6,480 4,400 2,080
= 3,240
Al 3,240
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SN sRF D
HE: SN2 IB4E NS (SEHYSN/5Y - 5E)
Sl SAM2IIB MY R4 (B9 @2
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES HE o) (713 o) Hns2
ORJINBAES AZH8 X
6,480,000 *14] 6,480
= 3,240
Al 3,240
MEUREY SSH2 Y ARD 1K HBAE X 220,000 200,000 20,000
= 20,000
Al 200,000
402 BIAT2O0IH 220,000 200,000 20,000
= 20,000
Al 200,000
01 QIR AR E (XHH R ) 200,000 200,000 0
= 0 &t 200,000 200,000 0
OMBURE SSM2 HTALLT
100,000, 0002 *3JH 4 *50% 150,000
OARES 1XHB MAAL N
50,000, 0002 *27H 4 *50% 50,000
02 QIR AL R E(OIFTHR) 20,000 0 20,000
= 20,000
=0 & 20,000 0 20,000
= 20,000
OMENTANE RE 2ZNA
20,000,000 *14! 20,000
= 20,000
YLsAE BHA B3 60,000 60,000 0
2 50,000
Al 10,000
402 PIATROIH 60,000 60,000 0
2 50,000
Al 10,000
02 PIATZAYRE(OIHHE) 60,000 60,000 0
2 50,000
Al 10,000
=0 & 60,000 60,000 0
2 50,000
Al 10,000
OLLSAE B LFHAY
60,000,000 *1H 4 60,000
2 50,000
Al 10,000
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SA EYEUY
Hu: SA2 OIB4E NUSH(SEHLSN/SY - 5E)
©@He saENS MY 'H (e &
SNBSS (BH) - MEAY - B2 (ggz::) @(ijf;ﬁ% HRE2
S&t=E JtsdH 29 309,991 246,930 63,061
101 ol A H| 31,939 0 31,939
04 JI2ZtHZ22 XS+ 31,939 0 31,939
= 0ff A 31,939 0 31,939
Osét2 ItsdgH2E JI2HM 22Xk oA
ull 31,939
EAR==1 66,800 x2H 212 x8I1 & 22,445
—F54 66,800& x2H x34 4,543
-5 100,200& *»2H =17 3,407
—=0H3 15,199,000 *4.5% 684
— AL EE 15,199,000 *3. 12% 475
- 11888 15,199,000 *1.5% 228
—NMHEE 15,199, 000& *0.8% 122
— A YEE 474,150 *7.38% 35
201 U E 2 AY| 118,052 89,430 28,622
01 Ar®2telt] 54,960 42,150 12,810
= 0ff &F 54,960 42,150 12,810
Oz 2 JIBEH AIREE 2¢
50,000 x4E x12& 2,400
O H}H ¢ E22 M 700,000 43| 2,800
O&HMNE HE F¢ 10,000& * 155 x203] 3,000
OfMH S 7 80,000& 505 4,000
ORolAH 4 100,000& = 12& 1,200
O=2A dxtE 220,000& = 12& 2,640
Od£I ¥ "ld ¢x= 180,000& = 12& 2,160
OsA28 +=HUIS 100,000& = 12& 1,200
O&EI|orE el A =42 280,000& 128 3,360
OZTEgAM2AL =5 150,000& = 12& 1,800
OLRHEE=XMelAlE &H224H
1,700,000& =128 20,400
OJISHdE AMEHEH 22 29
200,000%503] 10,000
02 33294l 63,092 47,280 15,812
= 0ff A 63,092 47,280 15,812
OJIE4dEH &2 4,807,666 x12& 57,692
Odtolx==22 50,000& x12& 600
OHLI(CIHY LS 100, 000& *12& 1,200
OLPG JtA 2 ¢ 300,000& x12& 3,600
206 M2 10,000 7,500 2,500
]
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SA EYEUY
Hu: SA2 OIB4E NUSH(SEHLSN/SY - 5E)
0o =MEIE MY B4 CER-E
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
01 &4l 10,000 7,500 2,500
= 0f 10,000 7,500 2,500
Osdt2 I3 AlIMEE Mg+
500,000& x203] 10,000
405  XHaHFE S 150,000 0 150,000
01 XAME=SSFSH 150,000 0 150,000
=0 &t 150,000 0 150,000
OJ24H AIE&Y 2
150,000, 000& * 1A 150,000
SFEMTFHAMS 539,000 0 539,000
hag 400,000
== 27,800
Al 111,200
307 QIz2tol & 439,000 0 439,000
Fag 300,000
& 27,800
Al 111,200
02 QU2tFAANHEX 439,000 0 439,000
Fag 300,000
o= 27,800
Al 111,200
= 0ff A 439,000 0 439,000
Fag 300,000
= 27,800
Al 111,200
ONicHE OFMAI EHSAL (BAHEX)
439,000,000 x 14! 439,000
Fag 300,000
== 27,800
Al 111,200
402 QIZ2EXrE201 & 100,000 0 100,000
Fag 100,000
02 QIAX2SAILEZ(0IETHE) 100,000 0 100,000
rag 100,000
= 0ff & 100,000 0 100,000
Fag 100,000
ONicHE OFMA E4HAY (HE2EX)
100,000, 000& *1A! 100,000
P 100,000
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SN meEHY
Hu: SA2 OIB4E NUSH(SEHLSN/SY - 5E)
B9l mASIIE MY B4 CERT
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
HdESAST e AL 300,000 0 300,000
- 250,000
Al 50,000
402 QU2tXp=20lM 300,000 0 300,000
fax 250,000
Al 50,000
02 QUAT2AMEEZ(0IXTHIA) 300,000 0 300,000
s 250,000
Al 50,000
= 0l & 300,000 0 300,000
s 250,000
Al 50,000
ONEAE &YStAH 300,000,000 14! 300,000
s 250,000
Al 50,000
EZAZAY QlZe 2EAY 300,000 0 300,000
= 250,000
Al 50,000
402 U2t =201H 300,000 0 300,000
= 250,000
Al 50,000
02 QUAT2AMEEZ(0IETHA) 300,000 0 300,000
= 250,000
Al 50,000
= 0l & 300,000 0 300,000
= 250,000
Al 50,000
OFEF ASAY olmet ASAY
300,000,000 14! 300,000
ras 250,000
Al 50,000
EXAF SEUS HMES O HME N 20,000 0 20,000
& 8,000
Al 12,000
402 QU2tXp=20lM 20,000 0 20,000
= 8,000
Al 12,000
02 QUAT2AIEEZ(0IXTHSA) 20,000 0 20,000
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SN

L NUSH(SEHLN/ 5 - EE)
e =4 SR SR
S(BH) - NSNS - BE= (ggz::) @fjfgm;ﬁ% =2
NE2ANSEZ(0IEHSE) = 8,000
Al 12,000
20,000 0 20,000
== 8,000
Al 12,000
dols HE CXAQ ME2XH
20,000,000 14! 20,000
== 8,000
Al 12,000
L MAIEHONA HEY 750,000 0] 750,000
Fag 100,000
Al 650,000
A& HI Y 20| 700,000 0 700,000
Fag 100,000
Al 600,000
700,000 0 700,000
Fag 100,000
Al 600,000
= Ol & 700,000 0 700,000
Fag 100,000
Al 600,000
S22 2HE YL MATOHE AE
700,000,000 1Al 700,000
hag 100,000
Al 600,000
| 50,000 0 50,000
Bl 50,000 0 50,000
50,000 0 50,000
2 JIEBHE L HAIHHE HE 2
2 50,000,000 =14 50,000
=5 321,032 272,306 48,726
== 10,000
Al 311,032
=28Hl K& 33,333 33,333 0
= 10,000
Al 23,333
=20l & 33,333 33,333 0
== 10,000
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SN meEHY
Hu: SA2 OIB4E NUSH(SEHLSN/SY - 5E)
el sitE =5 AIAE 2= (cte &2
SA BB (AH) - HBAY - BA= (X o) ) HDE 2
402 QI =0lM Al 23,333
02 QUAT2AMEEZ(0IXTHA) 33,333 33,333 0
= 10,000
Al 23,333
= 0l & 33,333 33,333 0
= 10,000
Al 23,333
OsttEg =227 XA
3,333,300& =100 &~ 33,333
= 10,000
Al 23,333
setE =5 X X 277,699 228,973 48,726
201  LEt2I| 10,000 10,000 0
01 At 2eltl 10,000 10,000 0
= 0l & 10,000 10,000 0
ONBABHYUBS 2A AT
2,000,000 =109 & Xl *50% 10,000
202 Ol 44,160 2,160 42,000
01 =LHObI 2,160 2,160 0
= 0l & 2,160 2,160 0
O3+ Hd2F8 AL & 319 4
60,000 *3H « 12 13| 2,160
04 =RH30HI 42,000 0 42,000
= 0ff & 42,000 0 42,000
024 SSNE HABS A
3,500,000 *3H *43| 42,000
203 YR F=AHl 3,000 3,000 0
03 AI#FAAHRFAH| 3,000 3,000 0
= 0l & 3,000 3,000 0
OsdzEs =282 =4 3,000,000 *14] 3,000
206 M= Hl 45,827 40,000 5,827
01 & Hl 45,827 40,000 5,827
= 0l & 45,827 40,000 5,827
ONsHE T8N 2 5,827,000 =14 5,827
OJ)s =8ME8 Z&M & 8J+7¢
4,000,000& «10& 40,000
301 LerEa3 4,712 3,813 899
09 AtAHIEAZ 4,712 3,813 899
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SN SR
Ha: JEY M2 SN2 IS (STALSN/5Y - 55)
Sl HEE SM2 SHRIA AR X CERE
x s . Of &t o8 & & 0 A o -
SA - B (SH) - HRAY - BAES =z T HRE2
Al 6,524,925
201 Yur2YHl 21,240 15,430 5,810
01 AtR2teltl 21,240 15,430 5,810
=0 &t 21,240 15,430 5,810
SDIA BINAMLEA AT &
o 167,0002 * 102 *103] 16,700
Ot DS AN HALY
100,0002! +9% +23] 1,800
ODIA NZDXHEY HAIY £g
100, 0008 *283 x23| 400
OStDIAAME XA NEM K=
3,0002 %400 1,200
O3t mZA 222 KA 1,1408+1,0008 1,140
202 Oftl 2,160 2,160 0
01 =Ujoibl 2,160 2,160 0
= 0l 4t 2,160 2,160 0
OB%DIA HLEZ A U 59 &A
60,0002 *3% * 122 +13] 2,160
301 LsBA3 3,600 3,600 0
09 BAIMHIEAT 3,600 3,600 0
=0 & 3,600 3,600 0
ODI4 2472 A8t
60,0002 *602] 13| 3,600
308 XHXIEHH SOl 8,425,608 7,275,209 1,150,399
= 1,927,683
Al 6,497,925
08 REINTOCHERE 8,425,608 7,275,209 1,150,399
= 1,927,683
Al 6,497,925
=0 & 8,425,608 7,275,209 1,150,399
= 1,927,683
Al 6,497,925
OBt DA ATHE KA
500,000,0002! * 13l 500,000
OStDBAl ATHE KA
6,425,608, 0002 *13] 6,425,608
= 1,927,683
Al 4,497,925
OIS X e & (Non-GMO) Al TH 2 Xt 24 XI &1 Af
& 1,500,000, 000& 13| 1,500,000
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SN seEYY
By A8 =A42 HDSA DI (sUNLSM/5Y - =E)
©o: e sa %DM ANE U CER-E
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
SNgaE dEdsats oY A X 35,000 35,000 0
= 10,500
Al 24,500
201 LBt 49| 35,000 35,000 0
= 10,500
Al 24,500
01 AtR2Zeldl 35,000 35,000 0
= 10,500
Al 24,500
= 0l & 35,000 35,000 0
& 10,500
Al 24,500
OSDTAE FBASHE XA A A
35,000, 000& *13| 35,000
& 10,500
Al 24,500
2334 A PF(LES/ROULEESUS) 8,984,249 8,984,249 0
FazA X 8,984,249 8,984,249 0
a4 XA 8,984,249 8,984,249 0
308 AXHHMS0IH 8,984,249 8,984,249 0
08 WHEIIZMUSEES 8,984,249 8,984,249 0
= 0ff & 8,984,249 8,984,249 0
OstDBAL(2A S)N
8,984,249,000& * 13| 8,984,249
SCOHAIE 243 2 (sdlldsd/sY - &) 848,483 927,305 NT8,822
SOHAIE AlE 22l &5 848,483 927,305 ANT8,822
SOHAIE &bl 848,483 927,305 AT8,822
101 ol24| 23,473 37,067 A 13,594
04 JIZtHZZ2NSE =+ 23,473 37,067 A 13,594
= 0l & 23,473 37,067 A 13,594
OZHAYE B2ERE 34 2RI 19,282
—-JIE2= 66,8003 x1Z 21«10 14,028
- =5 66,800 x 1 52! 3,474
—=3204H3 17,501,600& *4 . 5% 788
— 422 17,501,600 *3. 12% 547
-—NE2d 17,501,600 *1.5% 263
—MNHEH 17,501,600 *0. 8% 141
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SN s

HM: COHAIE 245 2 (sEildsa/sY - 55)
ol EOHAIR AE 2R StE CER-T
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
— A YLEE 547,000& *7.38% 41
OZAIE EHID 8A(E%) 4,191
23 83, 130& x2H x5 4,157
—MHEE 4.156,500& *0.8% 34
201 282 HH| 475,710 443,875 31,835
01 At 2t2lbl 76,469 88,822 N 12,353
= 0l & 76,469 88,822 AN 12,353
OZANE=ESHE 10,000& 40004 4,000
OoOXMIIsEc+Y 326,330 128 3,916
O&J|etdeSEFLY 158,000& *12& 1,896
OO0l As Alal sitE 2
23,7003 *2400H A~ 5,688
OANEZe 2RI AgFTFE L
100,000& *18H 23| 3,600
OHRJZE M= 22= 195,000& *2H x23] 780
OoMYII2E 2 (1002 E)
2,120& x 10000 x 12& 2,544
OEdlsdta s otE A 2t01 & AbYI
79,110 *x88 S+12& 7,595
Ost&EA EIFLY 800,000 x12& 9,600
OZMEH A28 2 40,000& x12& 480
Ost&Es ARE F¢ 400,000 x12& 4,800
OZAIE EFZD1, MOF221, A7
25,000 *3X «63] 450
O=&4 F32312e 9 A& 80,000& x123] 960
O=A & Z2H E ¢
500,000& *x1CH x63] 3,000
OZHASA)| dXAES
400,000& 1t =12& 4,800
OZHAIE AYAIE SX22IUE A
22,360,000 14! 22,360
02 =524 399, 241 355,053 44,188
= 0l & 399, 241 355,053 44 188
OO0 EXSsIEEZ 65,000& *13] 65
OZAIE 2g2tel ¢y 29
2,500,000& *43| 10,000
OdI|I&EH M EHdL+==3  3,000,000& *13] 3,000
OAN&EZ2 U2 HN8EH 1,800,000& *13] 1,800
OSAZF HIIZX2AE HIIEA
900,000& *x13] 900
OABAEMEASLEZ 1,000,000& x13] 1,000
O8EXHASSZ 2,568,000& x13] 2,568
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SN

E:O-i X‘IiH]_}

MM CHHAE 845 2 SHLSM/sY - &)
Sl ZTOHAIE AlE 2212 == (@2
- - 0l &FoH & S T 0] AFoH —~
A3 .S (3H)- - HEAY - HAS (ZE o) (I o) Hns2
OM:=ZHIHA 7,000 *600E 4,200
ORQAHIAAE 2AH| 240,000 12% 2,880
ORAIEIAIEE 16,0002 43 64
OsAEEIIMNER 1,677,000 x 128 20, 124
OIS 130,000 * 13| 130
OAgot®E 3| 48,0002 *13] 48
O=ZA(ABS)HLH2H (B R)
1,2002 *4502] Ef *204 A 1,080
OZMHAIE et SFHl 869,600 x50 & 4,348
OZRIARALEAZH (AR)
800! #5422 £ *1JH A 434
OZHAIE EIIAERE 25,000, 0002 %123 300,000
OZHHAIE ARSD ASEH X B4
1,000,000 43| 4,000
OZHHAIE =223 1,800,0008 x12& 21,600
OFXEN I8 A H23H AR
450,000‘3*12% 5,400
OLENNFYE T2 X224
1,000,0009 x12& 12,000
OSKMETMHAIE FEAMI| L HMY KX
24| 300,000€ *12% 3,600
202 Ol 2,160 2,160 0
01 20l 2,160 2,160 0
=0 & 2,160 2,160 0
COHAIR AREZR AL 2 3o FHA
60,0002 *3 x 122 x 13 2,160
206 M a2Hl 4,740 4,603 137
01 X=2dl 4,740 4,603 137
=0 & 4,740 4,603 137
O AH A& 1P2W(220V) 72 80,000 »8H 640
O® 222 &3p4w(380v) 7
180,000 * 10 M 1,800
OZXZFHE A8FRIE HEz 7Y
23,0002 * 100 * 13 2,300
207  APoHLH| 2,400 71,600 269,200
02 HARNZH| 2,400 21,600 A 19,200
=0 & 2,400 21,600 219,200
SMS2ZIHAIE EAGSHAALH JHEZ
0 X823 200,000 122 2,400
401 Al&HI 220 337,000 353,000 A 16,000
01 Al&d] 337,000 353,000 216,000
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SN

SEEER

M SUHHAE 24835 2s(sElLsd/sg8 - &)
SRl SOHAIE AlE 22Y &3 (o2&
x s . 0 & o & & 0 A o -
SA - B (SH) - HRAY - BAES =z T BlRE2
= 0ff o 337,000 353,000 ~16,000
O HI&ZEI AIEEH 2+
3,000,000& =14 2 3,000
O ZHAIE AdA=SXE=Hl
60,000,000 » 104 2 60,000
O MYJIHMelE JIAEH B+
50,000,000& =14 & 50,000
O A22AE2 RAE= 50,000,000 *14 2 50,000
O ZOHAIE HII&8H HLUtEXE 2
10,000,000 * 104 2 10,000
OSOHAIE JIH. &1 |FX 2=l
2,700,000 *200H 2~ 54,000
OZHAIE Jt28 D&E LED Al
1,000, 000& 504 50,000
OZHAIE ZHA(3EA) HESBA
30,000,000 =14l 30,000
OZHAE ZOHAEHJALE B
2,000,000* 157K 2~ 30,000
405  THAHF S 3,000 14,000 A 11,000
01 XML 2EHSHI 3,000 14,000 A 11,000
= 0fl & 3,000 14,000 A 11,000
OSWHAIE HEIY & (M)
3,000,000 » 14l 3,000
HY2FZH (=) (IIEH/IIEL) 286,314 303,374 A 17,060
ol 2 gl 87,914 96,190 A8,276
ol 2AH| 87,914 96,190 AB,276
101 elAd4| 87,914 96,190 A8,276
01 2= 81,569 90,027 A 8,458
= Off & 81,569 90,027 A 8,458
OAlZte 28+g
10,2993 x22H x30Al 2+ x 128 81,569
02 JIEt&E = 6,345 6,163 182
= Ofl &F 6,345 6,163 182
OAIZEel 222 8,812 & *x2H x30A| 2t+128 6,345
Jl23l 198,400 207,184 AB,784
JlE2ztl 198,400 207,184 AB,784
201  LEt2 4| 126,000 129,144 A3, 144
01 AtR2Zeldl 124,740 127,884 A3,144
= 0fl &F 124,740 127,884 A3, 144
OJl2AnRESHI 500,000& x12& 6,000

- 794 -




A ML
. HESHHH (sLH ) (IIEH/DIE
Ce: I3l (chg:®
SN HE B (BA) - MEAY - BHAS (ggz::) @(ijf;lﬁ% HRE2
Osgllsdy 2d23s4+8H|
400,0008! * 122 4,800
OsgEuY 2ABELSH)
100, 000& x23%H 2,300
OdiOIMEHEEZNE Y S
330,000& *6CH *33] 5,940
O= A EXtE 600,000& *1CH=12& 7,200
O=AsSA 7 23,000 x 122k A %128 3,312
OZReUSHE ¥ BIAM
10,000 x 1005 *23] 2,000
OZBAIIEHZRY 450,000 *1CH *63] 2,700
OEN=21,MOFE2D1, A7 e
25,000 *3X x4 3] 300
ORI, ME 50,000& *2 X x4 3] 400
Oz ssdA 150,000& *2CH x123] 3,600
OAZA SHET MY 1,000,000 * 14! 1,000
O ARERL 300,000& x12& 3,600
oMY IIE2E722(10021H)
2, 1203 250 x12& 636
Otl2r?s & dZ32 15,0003 125128 2,160
Os8lz?sZz 5,000& x1002 x12& 6,000
OEZ0HAHI 8,000& *x23H x6 L x12& 13,248
OL =L (ME, TOHAIE) 57,960
— = 2&H| 60,000& *2H x365 43,800
— YRS 60,000 x2H 118 14,160
OY2E XM XY 50,000& *2CH x12& 1,200
OARA HFI| A5 96,000& *43| 384
02 =324l 1,260 1,260 0
= 0l & 1,260 1,260 0
O XS XHAI 300, 000& *2CH x23] 1,200
OXNSIEIZBAZ 30,000& x2CH 13 60
202 Ol 57,600 64,800 AT,200
01 2L b 57,600 64,800 AT,200
= 0l & 57,600 64,800 AT,200
OJl2gRsa 2ol
20,0003 »24H 10 x12& 57,600
203 YR =&Y 14,800 13,240 1,560
01 JIA2SILRE=XH| 3,900 3,900 0
= 0ff &F 3,900 3,900 0
OsgIllsdEe AR 3,900,000& x1H 3,900
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=
X XH . SH
o Tt [==J

Bl (= &2 (DIEH/IIE

ekl Dl gl (o2&
x s . 0 & o & & 0 A o -
SA - B (SH) - HRAY - BAES =z T HRE2
02 ZIINEHISFAH 5,500 4,540 960
= Off & 5,500 4,540 960
OXP HMIHA S AIITE
5,500,000 » 14! 5,500
04 EN2IYRFAH 5,400 4,800 600
= 0fl &F 5,400 4,800 600
OfM2E 2224 450,000 «x12& 5,400
HREsS (g8l )(sdailiYsd/=g - &) 3,000,000 5,000,000 A 2,000,000
HEAHHK = 3,000,000 5,000,000 A 2,000,000
WEHH X = 3,000,000 5,000,000 A 2,000,000
702 DJIZHE3 3,000,000 5,000,000 A 2,000,000
01 JI=sd&E3 3,000,000 5,000,000 A 2,000,000
= Off &t 3,000,000 5,000,000 A 2,000,000
Os=4SIHtHAEII= 8&3
3,000,000, 000 * 14 3,000,000
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